

SOME INEQUALITIES FOR SUBMARKOVIAN GENERATORS AND THEIR APPLICATIONS TO THE PERTURBATION THEORY

V. A. LISKEVICH AND YU. A. SEMENOV

(Communicated by Palle E. T. Jorgensen)

ABSTRACT. We characterize the domain in L^p -space of generators of submarkovian semigroups in terms of the form domain in L^2 and give the corresponding inequality. Using this inequality we obtain a criterion for the formal difference $A - B$ of such generators to be a generator of a contraction semigroup in L^p . The conditions on perturbation are expressed in terms of forms, i.e., in L^2 -terms.

The following elementary inequality with application to the generators of submarkovian semigroups was found by Stroock [S, CKuS] (see also [V]).

For any $p \geq 1$ and $0 \leq s, t < \infty$

$$4 \frac{p-1}{p^2} (s^{p/2} - t^{p/2})^2 \leq (s-t)(s^{p-1} - t^{p-1}) \leq (s^{p/2} - t^{p/2})^2.$$

The proof is quite simple:

$$\begin{aligned} (s-t)(s^{p-1} - t^{p-1}) &= s^p + t^p - st(s^{p-2} + t^{p-2}) \\ &\leq s^p + t^p - 2ts\sqrt{s^{p-2}t^{p-2}} = (s^{p/2} - t^{p/2})^2. \end{aligned}$$

On the other hand,

$$\frac{4}{p^2} (s^{p/2} - t^{p/2})^2 = \left(\int_t^s z^{p/2-1} dz \right)^2 \leq \left| \int_t^s dz \right| \cdot \left| \int_t^s z^{p-2} dz \right| \cdot (p-1)^{-1}.$$

In this paper we give two generalizations of this inequality and apply them to the generators of submarkovian semigroups. We get a characterization for the domain of the generator in the L^p -space in terms of the corresponding quadratic form in the L^2 -space. We use the two-sided inequality obtained for the development of the perturbation theory for the generators in the L^p -space. The conditions on perturbation are expressed in terms of form-bounded perturbations, i.e., in L^2 -terms. So in a sense, in our Theorem 2 below, we give an extension of the KLMN-theorem (see [RSi, K]) to the L^p -spaces.

Received by the editors March 25, 1992.

1991 *Mathematics Subject Classification.* Primary 47D03, 47D07, 47A55.

Key words and phrases. Submarkovian semigroups, form-bounded perturbations.

The first author is a recipient of a Dov Biegun Postdoctoral Fellowship.

Lemma 1. For any $p \geq 1$ and $s, t \in \mathbb{R}^1$ the following inequality holds true:

$$4 \frac{p-1}{p^2} (s|s|^{p/2-1} - t|t|^{p/2-1})^2 \leq (s-t)(s|s|^{p-2} - t|t|^{p-2}) \leq a(p)(s|s|^{p/2-1} - t|t|^{p/2-1})^2$$

where

$$(1) \quad a(p) = \sup_{x \in [0, 1]} \frac{(x^{1/p} + 1)(x^{1/p'} + 1)}{(x^{1/2} + 1)^2}, \quad \frac{1}{p} + \frac{1}{p'} = 1,$$

$a(1) = 2, a(2) = 1, 1 \leq a(p) \leq 2, \forall p > 1$. (Moreover, if s and t are of the same sign, then $a(p)$ can be changed by 1.)

The proof of the left-hand side of the inequality is the same as that of Stroock's. The right-hand side is equivalent to

$$\frac{(s-t)(s|s|^{p-2} - t|t|^{p-2})}{(s|s|^{p/2-1} - t|t|^{p/2-1})^2} \leq a(p).$$

It is easy to see that

$$\sup_{s, t \in \mathbb{R}^1} \frac{(s-t)(s|s|^{p-2} - t|t|^{p-2})}{(s|s|^{p/2-1} - t|t|^{p/2-1})^2} = \sup_{x \in [0, 1]} \frac{(x^{1/p} + 1)(x^{1/p'} + 1)}{(x^{1/2} + 1)^2}.$$

Let us point out some properties of the function $a(p)$ which are needed further. Firstly, $a(p) = a(p')$; secondly, $a(p)$ decreases on $(1, 2)$ and increases on $(2, \infty)$.

Now we give some definitions and explanations.

Let (M, μ) be a measurable space with the σ -finite measure μ . We use the following notation: $L^p \equiv L^p(M, \mu)$, $\|\cdot\|_p$ is the norm in L^p , and

$$\langle f, g \rangle \equiv \int_M f(x) \overline{g(x)} d\mu(x).$$

We say that A is a generator of a submarkovian semigroup (submarkovian generator) if the following conditions are satisfied:

- (i) A is a nonnegative selfadjoint operator in L^2 .
- (ii) $\|e^{-tA} f\|_\infty \leq \|f\|_\infty, \forall f \in L^1 \cap L^\infty$.
- (iii) $0 \leq f \in L^2 \Rightarrow e^{-tA} f \geq 0$ almost everywhere.

We say that the operator B is form-bounded relative to A and write $B \in PK_\beta(A)$ if B is a selfadjoint operator in $L^2, \mathcal{D}(|B|^{1/2}) \supset \mathcal{D}(A^{1/2})$, and

$$\| |B|^{1/2} \varphi \|_2^2 \leq \beta \| A^{1/2} \varphi \|_2^2 + C(\beta) \| \varphi \|_2^2 \quad \forall \varphi \in \mathcal{D}(A^{1/2})$$

for some $\beta \in (0, 1), C(\beta) \geq 0$.

Now let A be a submarkovian generator. We can define the operator A_p as a generator of the contraction semigroup in L^p :

$$(e^{-tA} \upharpoonright [L^2 \cap L^p])_{L^p \rightarrow L^p} \widetilde{\sim} e^{-tA_p} \quad (\text{the closure in } L^p);$$

$$T'_\infty =: (e^{-tA})' \quad (' \text{ is the sign of the adjoint operator}).$$

By representation of a resolvent in terms of a semigroup, we have

$$(\lambda + A_p)^{-1} [L^2 \cap L^p] = (\lambda + A)^{-1} [L^2 \cap L^p] \quad \forall \lambda > 0.$$

Now we are ready to formulate the main result of the paper:

Theorem 1. *Let A be a submarkovian generator. If $f = \operatorname{Re} f \in \mathcal{D}(A_p)$ for some $p \in (1, +\infty)$ then $f|f|^{p/2-1} \equiv g_p \in \mathcal{D}(A^{1/2})$ and the following inequality holds true:*

$$(2) \quad 4\frac{p-1}{p^2} \|A^{1/2} g_p\|_2^2 \leq \langle A_p f, f|f|^{p-2} \rangle \leq a(p) \|A^{1/2} g_p\|_2^2$$

where $a(p)$ is from (1) and if $f \geq 0$, then $a(p) = 1$.

Proof. Let $T^t =: T_\infty^t$. Set $P(t, \cdot, G) = T^t \mathbf{1}_G$, $G \in \mathcal{B}$, where \mathcal{B} is the σ -algebra on M and $\mathbf{1}_G$ is the characteristic function of the set G . $P(t, \cdot, G)$ is a finitely additive set function on \mathcal{B} and $P(t, \cdot, M) \leq 1$.

For any simple function $f = \sum_{i=1}^k c_i \mathbf{1}_{G_i}$, where $\{G_i\}$ are disjoint sets of finite measure, $c_i \in \mathbb{R}^1$, let us define

$$\int_M P(t, \cdot, dy) f(y) = T^t f = \sum_{i=1}^k c_i T^t \mathbf{1}_{G_i},$$

$f \in \mathcal{N}$, \mathcal{N} is the set of simple functions. Then

$$T^t v_p = \sum_{i=1}^k c_i |c_i|^{p-2} T^t \mathbf{1}_{G_i}, \quad T^t g_p = \sum_{i=1}^k c_i |c_i|^{p/2-1} T^t \mathbf{1}_{G_i},$$

where $v_p = f|f|^{p-2}$, $g_p = f|f|^{p/2-1}$.

Let $\varepsilon_t(u, v) = \frac{1}{t} \langle (1 - T^t)u, v \rangle$. Because of selfadjointness of A and consequently of symmetricity on (x, y) of the finite additive product-measure $d\mu_t(x, y) = P(t, x, dy) d\mu(x)$, the following equalities are valid:

$$\begin{aligned} \langle T^t f, v_p \rangle &= \langle f, T^t v_p \rangle = \frac{1}{2} \int d\mu(x) \int P(t, x, dy) (f(x)v_p(y) + f(y)v_p(x)), \\ \langle (T^t \mathbf{1}_E) f, v_p \rangle &= \langle \mathbf{1}_E, T^t |f|^p \rangle = \frac{1}{2} \int d\mu(x) \int P(t, x, dy) (|f(x)|^p + |f(y)|^p) \end{aligned}$$

where E is the support of f . Hence we obtain

$$\begin{aligned} \varepsilon_t(f, v_p) &= \frac{1}{2t} \int d\mu(x) \int P(t, x, dy) (f(x) - f(y))(v_p(x) - v_p(y)) \\ &\quad + \frac{1}{t} \langle (1 - T^t \mathbf{1}_E), |f|^p \rangle, \\ \varepsilon_t(g_p, g_p) &= \frac{1}{2t} \int d\mu(x) \int P(t, x, dy) (g_p(x) - g_p(y))^2 \\ &\quad + \frac{1}{t} \langle (1 - T^t \mathbf{1}_E), |f|^p \rangle. \end{aligned}$$

By Lemma 1 we have

$$4\frac{p-1}{p^2} \varepsilon_t(g_p, g_p) \leq \varepsilon_t(f, v_p) + \frac{1}{t} \left(4\frac{p-1}{p^2} - 1 \right) \langle (1 - T^t \mathbf{1}_E), |f|^p \rangle$$

and

$$\varepsilon_t(f, v_p) \leq a(p) \varepsilon_t(g_p, g_p).$$

So we get

$$(3) \quad 4\frac{p-1}{p^2} \varepsilon_t(g_p, g_p) \leq \varepsilon_t(f, v_p) \leq a(p) \varepsilon_t(g_p, g_p).$$

Since the set \mathcal{N} is dense in $\operatorname{Re} L^p$, $1 < p < \infty$, $v_p \in \operatorname{Re} L^{p'}$, (3) holds true for all $f = \operatorname{Re} f \in L^p$.

Now let $f = \operatorname{Re} f \in \mathcal{D}(A_p)$. Then (3) and the equality

$$\mathcal{D}(A^{1/2}) = \left\{ \psi \in L^2 : \sup_{t>0} \varepsilon_t(\psi, \psi) < \infty \right\},$$

which follows from the spectral theorem, yield $g_p \in \mathcal{D}(A^{1/2})$ and the left-hand side of (2) if we set $t \downarrow 0$. The right-hand side of (2) now follows from (3) and the left-hand side. \square

Remark. Theorem 1 is the generalization of the corresponding results of Stroock [S, CKuS] and Varopoulos [V] in the sense of our assumptions on the measurable space M . Besides, the main inequality has been proved on the natural domain.

Let $a(p)$ be defined by (1). For a fixed $\beta \in (0, 1)$ the equation $\beta a(p) = 4(p-1)/p^2$ has exactly two solutions $t_1 \in (1, 2)$ and $t_2 = t'_1 \in (2, \infty)$, where $t'_1 = t_1/(t_1-1)$. This is a direct consequence of the above-mentioned properties of the function $a(p)$.

Theorem 1 and different consequences are discussed in more detail in [LPSe]. Here we give only the application to the perturbation theory.

Theorem 2. *Let A and B be generators of submarkovian semigroups and $B \in PK_\beta(A)$. Then the form-difference $A \dot{-} B = C$ is well defined and the following inequality is valid:*

$$(4) \quad \|e^{-tC} f\|_p \leq e^{a(p)C(\beta)t} \|f\|_p \quad \forall p \in [t(\beta), t'(\beta)]$$

$\forall f \in L^2 \cap L^p$, where $C(\beta)$ is from the condition $PK_\beta(A)$, and $t(\beta) = t_1$ and $t'(\beta) = t_2$ are the corresponding roots of the equation $\beta a(q) = 4(q-1)/q^2$, $1 < q < \infty$.

Proof. Let

$$B_n = nB(B+n)^{-1} = n - n^2(B+n)^{-1}$$

(Yosida approximation), where B_n is a bounded selfadjoint operator in L^2 . It is easy to check that B_n is a generator of a submarkovian semigroup. Besides, $B_n \leq B$ and $B_n \in PK_\beta(A)$ with the same β and $C(\beta)$. So the operator $C_{p,n} = A_p - B_{n,p}$ with $\mathcal{D}(C_{p,n}) = \mathcal{D}(A_p)$ is the generator of the quasi-contractive semigroup T_n^t in L^p , $1 \leq p < \infty$, $\forall n = 1, 2, \dots$. Due to Stein [St, p. 67] these semigroups are holomorphic on L^p , $1 < p < \infty$.

Let $u_n(t) =: e^{-tC_{2,n}} f$, $f \in L^2 \cap L^p$. Then $u_n(t) \in \mathcal{D}(C_{p,n})$ for any $t > 0$ and $-du_n(t)/dt = C_{p,n}u_n(t)$. Note that $e^{-tC_{2,n}}[\operatorname{Re} L^2] \subset \operatorname{Re} L^2$ (it is a consequence of $B_n[\operatorname{Re} L^2] \subset \operatorname{Re} L^2$ and the Trotter product formula). Now without loss of generality, we can assume $f = \operatorname{Re} f$; then $u_n = \operatorname{Re} u_n$.

Multiplying both sides of the equation $-\frac{d}{dt}u_n = (A_p - B_{n,p})u_n$ by $u_n|u_n|^{p-2}$, integrating over M , and using Theorem 1 twice (for the operator A_p and for

the operators $B_{n,p}$) and condition $B_{n,2} \leq B \in PK_\beta(A)$ we obtain

$$\begin{aligned} -\frac{1}{p} \frac{d}{dt} \|u_n\|_p^p &= \langle (A_p - B_{n,p})u_n, |u_n|^{p-2}u_n \rangle \\ &= \langle A_p u_n, |u_n|^{p-2}u_n \rangle - \langle B_{n,p} u_n, |u_n|^{p-2}u_n \rangle \\ &\geq 4 \frac{p-1}{p^2} \|A^{1/2}(|u_n|^{p/2-1})\|_2^2 - a(p) \|B_{n,p}^{1/2}(|u_n|^{p/2-1})\|_2^2 \\ &\geq \left(4 \frac{p-1}{p^2} - \beta a(p)\right) \|A^{1/2}(|u_n|^{p/2-1})\|_2^2 - C(\beta)a(p) \|u_n\|_p^p. \end{aligned}$$

Consequently, for any $p \in [t(\beta), t'(\beta)]$

$$\frac{d}{dt} \|u_n\|_p^p \leq pC(\beta)a(p) \|u_n\|_p^p.$$

Thus $\|u_n(t)\|_p \leq e^{C(\beta)a(p)t} \|u_n(0)\|_p$ or

$$(5) \quad \|e^{-t(A-B_n)} f\|_p \leq e^{C(\beta)a(p)t} \|f\|_p \quad \forall f \in L^2 \cap L^p.$$

Since $A \dot{\leq} B \leq C_{2,n} \leq C_{2,m}$ provided $n \geq m$, then $e^{-tC_{2,n}} \rightarrow e^{-tC}$ strongly in L^2 [K, Chapter 6]. So that by (5) and by Fatou's lemma we can pass to the limit in (5):

$$\|e^{-t(A \dot{B})} f\|_p \leq e^{C(\beta)a(p)t} \|f\|_p \quad \forall f \in L^2 \cap L^p. \quad \square$$

Thus we have defined the operator $(A - B)_p$ in terms of form-boundedness and showed that this operator is a generator of quasi-contraction semigroups in L^p .

Remarks. 1. The sharp constant in the right-hand side of the inequality (2) can be less than $a(p)$ for certain submarkovian generators, for example, for potentials. Therefore the constant $a(p)$ in (4) could be replaced by $\lim_n \inf a_{B_n}(p)$.

2. The semigroup $e^{-t(A \dot{B})}$ need not be positivity preserving. However, if $e^{-t(A-B_{n,2})}$ are positivity preserving for sufficiently large n then setting $u_n(t) = e^{-tC_{2,n}}|f|$, $f \in L^2 \cap L^p$, we can repeat the proof of Theorem 2 using inequality (2) with $f \geq 0$ and $a(p) = 1$. Instead of (5) we obtain

$$\|e^{-t(A-B_{n,2})}|f|\|_p \leq e^{C(\beta)t} \|f\|_p, \quad f \in L^2 \cap L^p.$$

Thus taking into account the inequality $|e^{-tC_{2,n}} f| \leq e^{-tC_{2,n}}|f|$, we get

$$\|e^{-t(A \dot{B})}_p\|_p \leq e^{C(\beta)t} \quad \forall p \in [t_+(\beta), t'_+(\beta)],$$

where $t_+(\beta) = 2/1 + \sqrt{1-\beta}$, $t'_+(\beta) = 2/1 - \sqrt{1-\beta}$.

3. Theorem 2 for the case of the Schrödinger operator $-\Delta - V$ and the sharpness of the dependence $t(\beta)$ as a function of β was proved in [KoSe].

We now turn to the generalization of one of the inequalities proved in Theorem 1.

Lemma 2. Let $\varphi : \mathbb{R}_+^1 \rightarrow \mathbb{R}_+^1$ be a function such that

- (i) $\varphi(z) = 0 \quad \forall z \in [0, b]$ for some $b \geq 0$;
- (ii) $\varphi'(z) > 0 \quad \forall z > b$;

(iii) the function $g_\varphi(z)$ is differentiable for $z > b$ where

$$g_\varphi(z) = \begin{cases} z\phi(z) - \kappa & \text{if } z \geq b, \\ 0 & \text{if } z < b, \end{cases}$$

$$\phi(z) = \sqrt{\varphi'(z)}, \quad \kappa \equiv z\phi(z)|_{z=b};$$

(iv) $\sup_{z>b} (1 + z\phi'(z)/\phi(z))^2 = c_\varphi^{-1} < \infty$.

Then for all $t, s \in [b, +\infty)$

$$c_\varphi^{-1}(t - s)(\varphi(t) - \varphi(s)) \geq (g_\varphi(t) - g_\varphi(s))^2.$$

Proof.

$$\begin{aligned} (g_\varphi(t) - g_\varphi(s))^2 &= \left(\int_s^t d g_\varphi(z) \right)^2 = \left(\int_s^t (z\phi'(z) + \phi(z)) dz \right)^2 \\ &\leq \left(\int_s^t \left(1 + \frac{z\phi'(z)}{\phi(z)} \right)^2 dz \right) \left(\int_s^t \phi^2(z) dz \right) \\ &\leq c_\varphi^{-1}(t - s)(\varphi(t) - \varphi(s)). \quad \square \end{aligned}$$

Theorem 3. Let φ and g_φ be the same functions as in Lemma 2. Let A be a generator of the submarkovian semigroup e^{-tA} . If $f = \operatorname{Re} f \in \mathcal{D}(A_p)$ for some $p \in [1, +\infty)$ and $\varphi(|f|)A_p f \in L^1(M, \mu)$, then $g_\varphi(|f|) \in \mathcal{D}(A^{1/2})$ and

$$c_\varphi \|A^{1/2} g_\varphi(|f|)\|_2^2 \leq \langle A_p f, (\operatorname{sgn} f)\varphi(|f|) \rangle.$$

The proof is almost the same as the proof of Theorem 1 when using the equality $T_\infty^t f(x) = \int P(t, x, dy)f(y)$, $\forall f \in L^\infty$, the evident inequality

$$\langle A_p f, (\operatorname{sgn} f)\varphi(|f|) \rangle \geq \lim_{t \downarrow 0} \left\langle \frac{1 - T^t}{t} |f|, \varphi(|f|) \right\rangle,$$

and Lemma 2. If we set $\varphi(z) = z^{p-1}$, $b = 0$, then $\phi(z) = \sqrt{p-1}z^{p/2-1}$, $g_\varphi(z) = \sqrt{p-1}z^{p/2}$, $c_\varphi^{-1} = p^2/4$. Hence we obtain the left-hand side of Stroock's inequality. If $\varphi(z) = \ln z$, $b = 1$, then

$$g_\varphi(z) = \begin{cases} \sqrt{z} - 1 & \text{if } z \geq 1, \\ 0 & \text{if } z < 1 \end{cases}$$

and $c_\varphi = 4$. Moreover, $(s - t)(\ln s - \ln t) \geq 4(\sqrt{s} - \sqrt{t})^2 \forall s, t \geq 1$. So from Theorem 3 we get that the conditions $f = \operatorname{Re} f \in \mathcal{D}(A_p)$ for some $p \geq 1$ and $\ln_+ |f| \cdot A_p f \in L^1$ are sufficient to conclude $\mathbf{1}_{|f|>1} \sqrt{|f|} \in \mathcal{D}(A^{1/2})$ and the corresponding inequality holds true. This fact was a crucial tool in the investigation of the essential selfadjointness of the Schrödinger operator with negative form-bounded potential in the case of zero-bound [LSe]. It should be pointed out that for this case the analog of the right-hand side of the inequality of Theorem 1 cannot be obtained.

ACKNOWLEDGMENT

The authors would like to thank Professor M. Solomjak for very helpful discussion.

REFERENCES

- [CKuS] E. A. Carlen, S. Kusuoka, and D. W. Stroock, *Upper bounds for symmetric Markov transition functions.*, Ann. Inst. Henri Poincaré **23** (1987), 245–287.
- [K] T. Kato, *Perturbation theory for linear operators*, Springer-Verlag, Berlin and Heidelberg, 1966.
- [KoSe] V. F. Kovalenko and Yu. A. Semenov, *On L^p -theory of Schrödinger semigroups. I*, Ukrain. Math. J. **41** (1989), 273–278.
- [LPSe] V. A. Liskevich, M. A. Perelmuter, and Yu. A. Semenov, *Form-bounded perturbations of generators of submarkovian semigroups* (in preparation).
- [LSe] V. A. Liskevich and Yu. A. Semenov, *One criterion of the essential self-adjointness of the Schrödinger operator*, preprint, 1991.
- [RSi] M. Reed and B. Simon, *Methods of modern mathematical physics, II: Fourier analysis. Self-adjointness*, Academic Press, New York, 1975.
- [St] E. M. Stein, *Topics in harmonic analysis related to Littlewood-Paley theory*, Princeton Univ. Press, Princeton, NJ, 1970.
- [S] D. W. Stroock, *An introduction to the theory of large deviations*, Springer-Verlag, New York, 1984.
- [V] N. Th. Varopoulos, *Hardy-Littlewood theory for semigroups*, J. Funct. Anal. **63** (1985), 240–260.

DEPARTMENT OF MATHEMATICS, THE WEIZMANN INSTITUTE OF SCIENCE, REHOVOT 76100,
ISRAEL

E-mail address: `mtlisk@weizmann.weizmann.ac.il`

DEPARTMENT OF MATHEMATICS, KIEV POLYTECHNIC INSTITUTE, KIEV 252056, UKRAINE